IR27TF48128B)
R18 | =7 BHPH

ADSR BOSX
BEP 2 — 1 =T Hd SR 3 0 =7B8%C
EEY 2 — 1 Sfgcp RSP 3 0 Sfgcp
BEP 2 = 1 SR SR 3 0 BEEP
EEG 2 — 1 =7 B% RSP 2 1 =78 - #HRES
BEP 3 — 1 EfgPp SR P 3 0 =7 B8%B
=7 8% 3 — 1 Sfgcp =7 B%B 2 1 =7B8%C
=T Hep 2 — 1 SHHER P =7 H$B 2 1 Sffch
=7 8% 2 — 1 Sfgcp =7 848 2 1 REEY
=T Hd 2 — 1 SR =7 B8%B 3 O | =/ 8- #HxR&Es
RSP 3 — 1 Sgcp Sgcp 3 0 =7B8%C
SR 2 — 1 EfgPp EfgPp 3 0 BEP
RSP 2 - 1 EEY Sfgcp 2 1 =78 - #HRES
=7 84C 2 1 BEP
OEgP @=7HP OHRFT @B =7 89C 3 0 | =78 - H#RES
BEEP 3 O | =78 - #H%x&Es
OHRP @=7HPB QM@




